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•••• Ñi;k tk¡p dj ysa fd bl iz'u&i= esa eqfnzr iz'u 18 gSaA  

Please make sure that the printed question paper are contains 18 

questions. 

•••• iz'u&i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsVlsVlsVlsV dks Nk= mÙkj&iqfLrdk ds 
eq[;&i`"B ij fy[ksaA 

The Code No. and Set on the right side of the question paper should be 

written by the candidate on the front page of the answer-book. 

•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 

Before beginning to answer a question, its Serial Number must be written. 

•••• mÙkj&iqfLrdk ds chp esa [kkyh iUuk@iUus u NksMsa+A 

Don’t leave blank page/pages in your answer-book. 

•••• mÙkj&iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk 

mÙkj u dkVsaA 
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Except answer-book, no extra sheet will be given. Write to the point and do 

not strike the written answer. 

•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 

Candidates must write their Roll Number on the question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u&i= iw.kZ o lgh gS] ijijijijh{kk ds h{kk ds h{kk ds h{kk ds 

mijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA    

 Before answering the questions, ensure that you have been supplied the 

correct and complete question paper, no claim in this regard, will be 

entertained after examination. 

    

lkekU; funsZ'lkekU; funsZ'lkekU; funsZ'lkekU; funsZ'k %k %k %k %    

 (i) lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA    

 (ii) bl ç'u-i= esa dqy 18 iz'u gSa] tks pkjpkjpkjpkj [k.Mksa % v] c] lv] c] lv] c] lv] c] l rFkk n n n n esa foHkDr  gSaA 

 (iii) [k.M &[k.M &[k.M &[k.M & vvvv ds iz'u la[;k 1 esa ckjgckjgckjgckjg (i-xii) Hkkx gSa ftuesa ls (i) ls (viii) rd 

cgqfodYih; rFkk (ix) ls (xii) rd oLrqfu"B izdkj ds iz'u gSaA izR;sd iz'u 1 vad dk 

gSA 

 (iv) [k.M[k.M[k.M[k.M &&&& cccc esa iz'u la[;k 2 ls 10 rd vfr-y?kwÙkjkRed iz'u gSa] izR;sd ds 2 vad gSaA 

 (v) [k.M &[k.M &[k.M &[k.M & llll esa iz'u la[;k 11 ls 15 rd y?kwÙkjkRed iz'u gSa] izR;sd ds 3 vad gSaA 
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 (vi) [k.M[k.M[k.M[k.M     & n& n& n& n esa iz'u la[;k 16 ls 18 rd nh?kZ mÙkjkRed iz'u gaS] izR;sd ds 5 vad gSaA 

 (vii) lHkh nh?kZ mÙkjkRed iz'uksa esa vkarfjd NwV miyC/k gSA  ,sls iz'uksa esa ls vkidks dsoy 

,d,d,d,d gh iz'u djuk gSA 

General Instructions :        

 (i) All questions are compulsory. 

 (ii) This question paper contains 18 questions, which are divided into 

four Sections : A, B, C  and D. 

 (iii) Section – A contains question number 1 having twelve (i-xii) parts, in 

which (i) to (viii) are multiple choice type and (ix) to (xii) are objective type 

questions. Each question carry 1 mark.  

 (iv) Section – B contains question numbers 2 to 10 of very short answer 

type questions and carry 2 marks each. 

 (v) Section – C contains question numbers 11 to 15 of short answer type 

questions and carry 3 marks each. 

 (vi) Section – D contains question numbers 16 to 18 of long answer type 

questions and carry 5 marks each. 

 (vii) Internal choice is available in all long answer type questions. You 

have to attempt only one of the given choice in such questions. 

[k.M[k.M[k.M[k.M – vvvv    

SECTION –  A 

¼oLrqfu"B iz'u½¼oLrqfu"B iz'u½¼oLrqfu"B iz'u½¼oLrqfu"B iz'u½    

(Objective Type Questions) 

  1. (i) fuEufyf[kr esa ls dkSu-ls tho esa vySafxd tuu py chtk.kqvksa }kjk gksrk gS \  1 
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  (A) ;hLV 

  (B) DySfeMkseksukl  

  (C) iSuhflfy;e 

  (D) gkbMªk 
  In which of the following organism, asexual reproduction occurs 

by zoospores ?   

  (A) Yeast 

  (B) Chlamydomonas 

  (C) Penicillium  
  (D) Hydra 

 (ii) esaMy }kjk v/;;u fd, x, eVj ds ikS/ks esa fuEufyf[kr esa ls dkSu-lk fo'ks"kd izHkkoh 
gS \ 1 

  (A) Qwy dh v{kh; fLFkfr 

  (B) cht dk gjk jax  

  (C) cht dk eq>kZ;k vkdkj  

  (D) Qyh dk ihyk jax  

  Which one of the following trait of pea plant studied by Mendel is 
dominant ?  

  (A) Axial flower position 

  (B) Green seed colour 

  (C) Wrinkled seed shape 
  (D) Yellow pod colour 

 (iii) Mh ,u dk izfrdj.k dksf'kdk pØ ds fdl izkoLFkk esa gksrk gS \  1 

  (A) S-izkoLFkk  

  (B) G1-izkoLFkk 
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  (C) G2-izkoLFkk  

  (D) M-izkoLFkk 

  In which phase of cell cycle DNA replication take place ?   

  (A) S-phase 
  (B) G1-phase  

  (C) G2-phase 
  (D) M-phase  

 (iv) fdl izÑfr foKkuh us ;g dgk Fkk fd tho :iksa dk fodkl vaxksa ds mi;ksx ,oa 
vuqi;ksx ds dkj.k gqvk gS \ 1 

  (A) yqbZ ik'pj 
  (B) Mh osjht 
  (C) ySekdZ 
  (D) MkfoZu  

  Which naturalist had said that evolution of life form occurred by use 
and discuss of organs ? 

  (A) Louis Pasture 

  (B) de Vries 

  (C) Lamarck  

  (D) Darwin 

 (v) fuEufyf[kr esa ls fpduxqfu;k jksx dk jksxokgd dkSu-lk gS \ 1  
     
 1 1 

  (A) ,uksQsyht ePNj 
  (B) ?kjsyw eD[kh 
  (C) D;wySDl ePNj 
  (D) ,Mht ePNj 

  Which one of the following is the vector of Chikungunya disease ?   

  (A) Anopheles mosquito   
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  (B) House fly  

  (C) Culex mosquito  
  (D) Aedes mosquito  

 (vi) /kku dh vf/kd mRiknu nsus okyh v)Zokeu dkSu-lh fdLe dks bUVjus'kuy jkbl fjlpZ 
baLVhV~;wV fQyhihal esa O;qRiUu fd;k x;k gS \ 1 

  (A) vkbZ vkj - 8 

  (B) rkbpqax usfVo - 1 

  (C) jRuk 
  (D) t;k  

  Which high yielding semi dwarf variety of rice was developed at 
International Rice Research Institute Philippines ?    

  (A) I R - 8  
  (B) Taichung Native - 1 

  (C) Ratna   
  (D) Jaya    

 (vii) izksfivksfucSDVhfj;e 'kkjeSukbZ uked thok.kq dk mi;ksx dkSu-ls [kk| mRikn cukus esa 
fd;k tkrk gS \ 1 

  (A) ngh  
  (B) fLol iuhj 
  (C) bMyh 
  (D) jkD;wQksVZ iuhj  

  Bacterium Propionibacterium Sharmanii is used in the preparation 
of edible product : 

  (A) Curd  

  (B) Swiss cheese  

  (C) Idli 

  (D) Roquefort cheese  

 (viii) iw.kZ fo'oO;kih m".krk ds fy, ehFksu dk lkisf{kd ;ksxnku fdruk gS \  1 



 ( 7 )        2030/(Set : C) 

2030/(Set : C)            P. T. O. 

  (A) 14% 

  (B) 20% 

  (C) 6% 

  (D) 60% 

  How much is the relative contribution of methane to total global 
warming ? 

  (A) 14% 

  (B) 20% 

  (C) 6% 

  (D) 60%  

 (ix) vfu"ksd tuu fdls dgrs gSa \  1 

  What is parthenogenesis ? 

 (x) 'kqØokgd mPNsnu fdls dgrs gSa \  1 

  What is vasectomy ? 

 (xi) cgqxqf.krk fdls dgrs gSa \  1 

  What is polyploidy ?  

 (xii)  ifjra= esa Lrj foU;kl fdls dgrs gSa \  1 

  What is stratification in an ecosystem ?  

[k.M[k.M[k.M[k.M – cccc    

SECTION –  B 

¼vfr¼vfr¼vfr¼vfr-y?kwÙkjkRed iz'u½y?kwÙkjkRed iz'u½y?kwÙkjkRed iz'u½y?kwÙkjkRed iz'u½    

(Very Short Answer Type Questions) 

  2. rk¡ck ekspd vkbZ ;w Mh dk ,d mnkgj.k nhft,A ;g xHkZ fujks/ku esa fdl izdkj lgk;d gksrk 
gS \  2 
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 Give an example of copper releasing IUD. How does it help in 
preventing pregnancy ? 

  3. cksxsufofy;k ds dk¡Vs ,oa dqdqjfcVk ds izrku] D;k letkr vax vFkok lerqY; vax gSa \ 
le>kb,A ;s fdl izdkj ds fodkl dks fu:fir djrs gSa \  2 

 Are the thorns of Bougainvillea and tendrills of Cucurbita homologous 
organs or analogous ? State the kind of evolution they represent.    

  4. ekuoksa esa nqnZe~; eysfj;k iSnk djus okys eysfj;k ijthoh dk oSKkfud uke crkb,A eysfj;k 
jksx ds y{k.k crkb,A   2 

 Give the scientific name of the malarial parasite that causes malignant 

malaria in human Mention the symptoms of malaria disease.  

  5. e/kqefD[k;ksa ds NRrksa dks iq"iu _rq ds nkSjku ljlksa Qly ds [ksrksa esa j[kus ij Qly rFkk 

'kgn nksuksa dk mRiknu vf/kd D;ksa gksrk gS \ le>kb,A  2 

 Why does the yield of both crop and honey increase when bee-hives are 

kept in mustard crop fields during flowering season ? Explain.  

  6. thu fpfdRlk fdls dgrs gSa \ ml igys fpfdRlk izdj.k dk uke fyf[k,] ftlesa bldk 

mi;ksx fd;k x;k Fkk \ 2 

 What is gene therapy ? Name the first clinical case, where it was used.  

  7. lgthfork D;k gksrh gS \ bl lef"V ikjLifjd fØ;k ds dksbZ nksnksnksnks mnkgj.k nhft,A  2 

 What is mutualism ? Give any two example of this population 

interaction.  
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  8. ifjra= esa vi?kVu dh fØ;k dks tyok;qoh; ?kVd fdl izdkj izHkkfor djrs gSa \ le>kb,A  

 2 

 How do climatic factors affect process of decomposition in ecosystem ? 

Explain.   

  9. Ñf"k esa tSo fofo/krk ds dksbZ nksnksnksnks mi;ksx crkb,A  2 

 State any two uses of biodiversity in agriculture.  

10. rki fctyh ?kjksa ls fudyus okys df.kdh; iznw"kdksa dks ckgj fudky nsus ds fy, fLFkj oS|qr 

vo{ksid fdl izdkj dk;Z djrk gS \   2 

 How does an electrostatic precipitator work to remove particulate 

pollutants releases from the thermal power plants ?   

[k.M[k.M[k.M[k.M – llll    

SECTION –  C 

¼y?kwÙkjkRed iz'u½¼y?kwÙkjkRed iz'u½¼y?kwÙkjkRed iz'u½¼y?kwÙkjkRed iz'u½    

(Short Answer Type Questions) 

11. MªkslksfQyk esa fyax lgyXu thuksa dk v/;;u djus ds nkSjku Vh0 ,p0 ekWxZu us ik;k fd F2 

y{k.k iz:i lef"V vuqikr                9 : 3 : 3 : 1  ls fHkUu FkkA og ftl 

ifj.kke ij igq¡pk] le>kb,A  3 

 During his studies on genes in Drosophila that were sex linked. T. H. 

Morgan found F2 population phenotypic ratios deviated from expected 

9 : 3 : 3 : 1. Explain the conclusion he arrived at.     
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12. tyey ¼lhost½ ds f}rh;d mipkj la;a= esa ¶ykWd fdl izdkj curs gSa \ budh Hkwfedk 
le>kb,A  3 

 How are flocs produced in the secondary treatment plant of Sewage ? 

Explain their role.  

13. tSo izkS|ksfxdh ds vuqiz;ksx ds fy, okafNr Mh ,u , Øeksa dks fdl izdkj dkVk tkrk gS \ 
dkVs x, [k.Mksa dks vyx djus dh rduhd dh O;k[;k dhft,A 3 

 How are the desired DNA sequences used in biotechnology cut ? 

Explain the technique used to separate the cut fragments.  

14. ,sMsukslhu fM,sehust U;wurk ds mipkj esa vkuqoaf'kd fufeZr yfldk.kqvksa }kjk mipkj dh 
O;k[;k dhft,A ;g mipkj LFkk;h D;ksa ugha gS \  3 

 Explain the treatment of adenosine deaminase deficiency by genetically 

engineered lymphocytes. Why is this treatment not permanent ?    

15. mnkgj.k nsdj le>kb, fd fons'kh tkfr;ksa dk vkØe.k LFkkfud tkfr;ksa ds foyqfIr dk dkj.k 
dSls curk gS \  3 

 Explain with examples, how do alien species invasion cause extinction 

of indigenous species ?    

[k.M[k.M[k.M[k.M – nnnn    

SECTION –  D 

¼nh?kZ mÙkjkRed iz'u½¼nh?kZ mÙkjkRed iz'u½¼nh?kZ mÙkjkRed iz'u½¼nh?kZ mÙkjkRed iz'u½    

(Long Answer Type Questions) 

16. (i) iq"ih ikni ds fu"ksfpr Hkzw.kdks"k dk vkjs[k cukb,A blds lHkh dksf'kdh; la?kVdksa dk 
ukekadu dhft,A  3  
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  Draw a diagram of a fertilized embryo sac of a flowering plant. 

Label all its cellular components.   

 (ii) bl Hkzw.kdks"k ls mRiUu Hkzw.kiks"k ds ifjo/kZu dh O;k[;k   dhft,A    2 

  Explain the development of endosperm from this embryo sec.  

vFkokvFkokvFkokvFkok 

OR 

 (i) ?kkl ds Hkzw.k ds vuqizLFk dkV dk vkjs[k cukb,A blds lHkh Hkkxksa dk ukekadu dhft,A
 3  

  Draw a diagram of L. S. of an embryo of grass. Label its all the 
parts.   

 (ii) iq"ih ikniksa ds chtksa ls izkIr gksus okys dksbZ nksnksnksnks ykHk crkb,A  2 

  Explain any two advantages of seeds offer to flowering plants.  

17. (i) uj ekuo esa fuEufyf[kr dksf'kdkvksa ds ik;s tkus dk fof'k"V LFkku ,oa muds dk;Z 
crkb, %  3 

  (a) yhfMx dksf'kdk,¡ (b) lVksZyh dksf'kdk,¡] rFkk 

  (c) izkFkfed 'kqØ dksf'kdk  

  Write the specific location and the functions of the following cells 

human males : 

  (a) Leydig cells  (b) Sertoli cells, and 

  (c) Primary spermatocytes  

 (ii) ekuo uj tuu ra= esa ik;h tkus okyh lgk;d xzafFk;ksa dh Hkwfedk crkb,A   
 2 

  Explain the role of accessory glands in human male reproductive 

system.   
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vFkokvFkokvFkokvFkok    

OR    

    (i) ekuo xHkkZ'k; fHkfÙk ds Hkhrj rFkk chp dh ijrksa ds uke ,oa mudh Hkwfedk le>kb,A
 2 

  Name the inner and middle layers of human uterus and explain 

their roles.   

 (ii) eknk ekuo esa izlo fØ;k dks le>kb,A  3 

  Explain the process of parturition in human female.   

18. ÝsMsfjdfxzfQFk }kjk LVªSIVksdksdl U;weksuh ij fd, x, iz;ksx dk o.kZu dhft,A mlds }kjk 
fudkys x, fu"d"kZ dk foospu   dhft,A   5 

 Describe Frederick Griffith's experiment on streptococcus pneumoniae. 

Discuss the conclusion he arrived at.     

vFkokvFkokvFkokvFkok    

OR    

    g"ksZ vkSj pst us fdl izdkj Li"V fd;k fd Mh ,u , okbjl ls] cSDVhfj;k esa izos'k dj tkrk 
gS \ le>kb,A 5 

 How did Hershey and Chase established that DNA is transferred from 

virus to bacteria ? Explain.   

ssss    

 


